,ﬂﬁl Ai‘ﬁﬁ@i 66kg %& R 2 1 E [E M EE 36 EIRRERORIRL XU > I KR
&

FR22618308~1A318 #RIBEFT7U—F)
1O | 20Ok | NI B8 (2EEKLBE) %L | ERORE

B ¢ KER wesmsswmmen

Py =, o e (30,TF7-0=141")

S H F 2 ssrezmssg 07 | .
i o (10,40 11 S — | el
N = | BEs=# 1-0,4-0 BRFEAFMBER =2
)/~4 < 5F _I _J£7K|—17fx TV

S

1
2
3 1]
4 o] J& IF R REAE ] oo
5 # 7 B 1) suooorwsss (2-0,3-0)
\ ——— = U g (1250TF7-0=1207)
6 ﬁ E%j% = * a-EuJﬂI%lE!*X?;lm ‘ c *XJ ijcm *,‘fgﬁ}pj*ﬂ
=6 4 e (3-1,3- R TR R
7 H b sE e 22
8 Il T &N mosen 203 o
O M AR BX BE enoexswssn (FO-4=0'45")
1 W A Erg*/t—fr: (3’1:2'0)
O T #Hl X mHeR N 12 BB
11 th 38 R & Armemg V000 [ EREREREE
12 8k B ifF 1 eumsesn oz op
13 78 1§ P mmTHER o (1-0,4-1)
14 gy K49 BR4& *ﬁiﬁ%ﬁ&%ﬁﬁ%‘&w_l. = 5 —
16 E*Fﬂ# B
15 K = FE mzEk (0-5,1-_% T FHRPRER TE
16 8 H B2 S| SERER m— .
17 3 2 4t o1 m#E (0-5,1-0=2'03",0-3=2'03") B
: — s n _=_ 7.{ (4-6,4-3,TF6-0=1'00")
18 j( /$ .IT'—t HE miEER TV3P=134" 20 = i
—_1! my CHEE(|IR= 75
19 4% #H B AFrmamn GATTEORom12n T RBIESE A
20 & 1B % BA ﬁﬂiﬁiﬁwé%ﬁa:(F2_7=1'36") or
fa — (TFO-7=0'56", TFO-8=1'31")
22 Hi AR mowmn kol
24 4% iR

(1-2,0-1) SERER | BE

23 i I B R mnesmsi

24 & IR 12 BmERER S .
25 R [E 98 EEE-eK (2-0,TF6-0=1'37")
26 = M In A ﬁﬁﬁiﬁﬁl%ffﬁw_h% e

278 A % mmer 4 | ‘%ﬁ%@%ﬁﬁ

28 85 K B A\ remumsssmm) .

29 K #E B mxek ny (4-00-55:0)
30 H R = # ==ugsfa— . \

317 K BE axrexsmsms JE202029"F5-0=03 REFER

;
32 1L B R m BxBRER




